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Multiple Choice: Please select the choice that best answers the question and insert
its letter into the corresponding line of your NCS answer sheet.

1. 'Which of the following statements (a through €) about Venus is false?
a. Venus has a (nearly)constant speed. T

b. Thereisa net force acting on Venus. -1
c.  The sun exerts a force on Venus equal in magnitude to that which Venus exerts on the sun.T

a Venus is driven forward along its orbit by physical forces due to the other masses in the solar
system. F
e. Venus exerts on Mars a force of the same magnitude as Mars exerts on Venus T
f. All of the above statements (a through €) are true: none is false.
g- None of the above statements (a through e) is true: all are false. F

2. Which of the following statements about the moon is most correct?
a. The acceleration due to gravity on the surface of the moon is smaller than that on the earth—T

because the effect of the moon’s smaller radius is overcome by the moon’s smaller mass.—T
b. The earth's gravitational pull on the moon equals the moon's gravitational pull on earth.”{
c.  We expect that the moon has zero acceleration in its own (accelerated) rest frame, since T
the centrifugal inertial pseudo-force just cancels the centripetal force the earth exerts on it..
d. The moon is continually accelerating toward the earth at a rate less than g = 9.8m/sec® T
All of the above statements (a through d) are true.
f. None of the above statements (a through e) is true. =

3. What is the force of earth's gravity upon a 10 kg mass located 100 earth radii from the earth's
center?

a. 10°N F= tog Re)* - 13 pn?g = 102N
2 107 (o @) To*
i whoe 37 GEE 2 1o miiect

f. None of the above answers is within 10% of the correct result.

4. How large, most nearly, is the acceleration of a 4 kg mass due to earth’s gravity when it floating

freely in an earth satellite at an altitude equal to three earth radii? 7}/

a. 10 m/s/s 2 > /9 = 0625 “Yec ™
b. 3.3 misls 7= g'__ff__-.jg?f) .= 2= ;f= 7¢
R* (Ret3t€)]  (3)

c. 2.5m/fs/s
d. 1.11 m/s/s
(Ce) 0.625 m/s/s

. None of the above answers is within 10% of the correct result.

5. Ifyou triple the radius of a sphere, its surface area increases by what factor?
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6. A future space traveler, Skip Parsec, lands on the planet, Z, which has half the mass of
Earth and twice its radius. If Skip weighs 400 Newtons on Earth’s surface, how much does he

weigh on Z’s surface? &

a. 3200N s gos => me WA {%f,_

b. 1600N o' 2 " B A 402

c. 800N . e . = e = 1 -

d. 400N Fe - a 7 ;@':& éa Re* 12)/2'.9 d

e. 200N

£ 100N 92 = Ge) => mga= fo 3= = SN
(g) SON a

None of the above is correct within 10%.

7. What is the magnitude of the earth's gravitational field, Fs/m, at a height above the earth
equal to three times the earth's radius?

a. 160N/kg = ﬁ
- g o Tk
S L A #
) . < & )
4 10Nkg d Y= 3 _2 W
e. 3.3 Nlkg E . (—‘-)"‘?’ =
f 1.INkg m - LF s
(2) 0.62N/kg

i. None of the above is correct within 10%.

8. The law of universal gravitation states that Fg = GMm/r*. Which of the following reasons, if
any, provides a valid and complete justification for using the form Fg = mg when we studied
projectile motion?
a. The first form is not valid for projectile motion. =
b. The first form does not work for projectile because it requires two masses. F
c. The first form is not valid near the surface of the earth. . :
d. The second form is simpler and therefore aesthetically preferable to the first. T ysee but inyulfecnl
6 If the distance to the earth’s center remains very close to Rg (the radius of the earth), the
second form gives the same result as the first, except for a correction of magnitude h/ Rg =T~
(where h is the height above the earth’s surface), which is very small for most projectiles.
f.  None of the above is a valid and complete justification for using the second form. [~

9. In Newton’s effort towards constructing his Law of Universal Gravitation, which of the
following items was NOT instrumental to his obtaining the correct form of that law? Y
a. That a rapid enough horizontal motion can place an object into an orbit around the earth.
b. That the force should be proportional to the product M;*M; of any two masses it affects.
c. That the acceleration of the moon is much smaller than g.
d. That the earth-moon distance is about 60 times larger than the earth’s radius
1 of the above (a through d) were instrumental items.
f. None of the above items (a through d) was instrumental in Newton’s thinking.
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10. Al the astronaut, has a mass of 80 kg and a weight of 800 N when he is standing on the surface
of the earth. What is his mass when he is in a space station orbiting earth with a radius of four

earth radii?

b Ske pass 15 rbpoiat o Localn

c. 10kg
d. 20kg
e. 40kg

80 kg

g. None of the above completions yields a true statement.

11. Over which of the following locations is it practical to have a geosynchronous satellite?
New York City, because it is a communications center.

Quito, Ecuador, because it lies on the equator.

London, because it is on the prime meridian.

The North Pole, because it does not move as the earth rotates.

A geosynchronous satellite can be placed over any of the above locations.

A geosynchronous satellite can NOT be placed over any of the locations, a through d.

h o 9—9@9

12. To make a satellite geosynchronous in a circular orbit at a height of three earth radii,
an engineer is assigned the task of adjusting its speed to make its period exactly
equal to 24 hours. To achieve this task:

a. requires enough energy to speed up or slow down the satellite.
b. demands engineering ingenuity to make the adjustment sufficiently precise.
¢. needs adequate follow up adjustment to keep the speed correct.

d. All of the above (a through c), and more, are necessary.
The engineer cannot possibly succeed, because the task is physically impossible.

13. A 300-kg satellite experiences a gravitational force of 1000 N. What is the altitude above
the earth’s surface of the satellite in orbit, most nearly? (Rg = Earth’s Radius.)

a. 9.0 Rg =63d-¢/5) = M,‘/ 2 & ‘l_

b. 8.0 Rz > . - pe\i= L = .

c.  30Rg Jevo W' = .7_"&(%’-) => 74') 3 v vg
&

d. 20Rg (. 732~ 4.9 Rz =O732

1-7RE ’?: /.73224? { 4 =
@ 0.7 Rs
, None of the above is within 10% of the correct answer.0.7.

14. What is the gravitational force between two 10.0-kg iron balls separated by a distance
of 10.0 m, most nearly? (The gravitational constant is G = 6.67 x 10™! N-m*/kg?.)

a. 6.67x10° N -« (1 )
= o-79) . # (

b. 3.34x10° N F= & ?/—;}—‘J 2 CLlTAr

c. 6.67x10° N

d. 334x10°N

6.67x 107 N

None of the above is correct within 10%.
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15. Kepler’s third Law says that T> = constant*R’ for planetary motion. If planet A has a
period, T, eight times that of planet B, then A is times as far from the sun as B.

2 1
b 025 T X g ot
T T
4:0 P - (ple =2 Rz 4Rq
8.0
g) 16.0

h) None of the above is correct within 10%.

16. The acceleration due to gravity on Titan, Saturn's largest moon, is about 1.4 m/s”.
What would a 30-kg scientific instrument weigh on Titan, most nearly ?
a. 42N

b 30N W= 30-(+4)= M gGr= a@avV
42N

d. 300N

e. 420N

f. None of the above is within 10% of the correct answer.

17. Suppose Ted has a mass of 70 kg. How fast (in mph) would he have to run to have the same
momentum as an 18-wheeler (m = 20,000 kg) rolling along at 1.0 mph? (1 mi = 1609 m.)

a. 13x10°mph .
29x10° mph Prz 7olup) =(2xstl(4.0) Fp- ML

7.8 x 10° mph " ' A
d. 4.6x10° mph Y = '?_;_of.o = 2.8¢xt0* m.p-4 ( )

e. 8.9x10° mph
f. None of the above answers is within 10 % of the correct result.

18. Newton's second law can be rearranged to show that the is equal to the
a. momentum ... impulse
b. change in momentum ... change in impulse
c. Impulse...change in kinetic energy
d. net work .... change in momentum
net work .... change in kinetic energy
. None of the above insertions leads to a true statement.

19. If an air track sled, B, at rest, is struck by an identical moving sled, A, the total final

kinetic energy will be

a. largest when the collision is totally inelastic so that the two sleds stick together, and the =
moving sled, A, provides the maximum follow-through force

b. smallest when the collision is totally elastic so that sled A comes to a halt while sled B~
moves off with the full initial velocity of sled A.

c. smallest for some partially inelastic collision between the above two extreme cases. &

d. The same for any degree of elasticity in the collision, because of Conservation of Kinetic =
Energy.

None of the above completions yields a true statement.
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20. Air bags are used by stunt people when they fall off buildings to reduce the which
occurs during the stopping of the fall.

21.

22.

23.

Ap, IM At

meallb{ <F>N¢

a. change in momentum =3
b. elapsed time ~ \rma < > Af
c. impulse ~
d. change in velocity =
work F
average force T
g. None of the above insertions yields a true statement.
Which of the following will cause the largest change in the momentum of an object?
A force of acting for
a. 5N.9s
b. 6N..8s
TN..7s
8N ...6s
e. IN..5s

f. Both b and d above cause the same largest change in the momentum.

If a 600 kg artillery shell explodes into fragments as it approaches its target with a
speed of 600 km/hr, the total momentum of all its fragments just after the explosion

will be equal in magnitude to:

1.0x10 kg-m/s PrT. qsﬂf bwm,,ww

a.

b. 3.6 x10* kg-m/s s
@ 1.0x 10° kg-m/s = m&a XQ'AXIO L ,JJS_? /an/°3 = /0
3.6 x 10" kg-m/s jj-r 1223

® o A

None of the above (a through d) has correct units for mom

The answer depends upon the energy of the explosion..

tum.

None of the answers (a through f) above is either correct or within 10% of the

correct answer.

What average force is required to stop a 125-kg football player running at § m/s in

a time of 0.4 s, most nearly?

b
c
d.
e.
@
g

16 N -
25N YA ﬁ?= }_ilg)— 251/%

31 N
250N

Topulec - Mottt Themen :  Fak 82 = AP

;i{w <« ZRRIK
= 2500/ = @

bt 04— Lo goeT AIEHER 1S

2500N

. None of the above is within 10% of the correct answer.

@ wer @

=
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24. A very hard rubber ball (m = 0.6 kg) is falling vertically at 10 m/s just before it bounces
on the floor. The ball rebounds back at essentially the same speed. If the collision with
the floor lasts 0.006 s, what is the average force exerted by the floor on the ball? " j
.1 > . . L/
b oo OUar = fg ( F»‘.L Fvs "4t = Ap A;W vl THowsy,
3
c. 100N -B [/a 0.¢) ~ [a.(l-ﬂj (e - 2w
d. 20N 1-’%;- = [0X ex1673 & x0
None of the above is within 10% of the correct answer.

25. If we examine a ball in free fall, we find that the momentum of the ball is not constant.
This is not a violation of the law of conservation of momentum because
a. The force of gravity acts on the ball.
b. The ball experiences an external force.
c. The ball is not an isolated system.
d. Net work is done on the ball as it falls.
All of the above answers are correct.

26. Asasupernova star explodes, the total linear momentum of the star
a. increases slowly
b. increases suddenly in the outward direction
c. decreases rapidly at first and then more slowly as the star expands.
d. decreases at a nearly uniform rate once the explosion has occurred.
There is not enough information given to define the behaviour of the total momentum.
None of the above statements (a through e) is true.

27. We can explain the recoil that occurs when a rifle is fired by using
a. conservation of momentum.
b. Newton’s second and third laws.
c. equal and opposite impulses.
d. equal and opposite changes in momentum

Any of the above.

28. Larry has a mass of 60 kg and runs across the classroom with a speed of 15 m/s
and jumps onto a giant skateboard, initially at rest and with a mass equal to half
of Larry's. If we ignore friction, what is the final speed of Larry and the
skateboard, most nearly?

‘I‘OH;S/S Y= Co()5) :?f (&“‘m ,/I'MIM

S 15 mls 2 & = (bot3)vF
d 20m/s M Vg = /O‘y;ac
e. 30m/s 2ox

f. None of the above is within 10% of the correct answer.



Phys 117-ExII-S08 Page 8 of 17

29. 'I.‘wo air-track gliders are held together with a string. The mass of glider A is three
times that of glider B. A spring is tightly compressed between the gliders. The gliders
are initially at rest and the spring is released by burning the string. If glider A has a
spee(()i 705f 1311/ m/s after the release, how fast will glider B be moving?
a. 0. s

-
b. 1.0m/s S6=2Mjq Vq — Mp Y

c. 3m/s We =~ 3 A v 6;#3’%3”4 =g VB
d.) 9 m/s A= 3mg G =V
e. 12m/s f}t = Vb

f. None of the above is within 10% of the correct answer.

30. A father (m = 80 kg) and son (m = 30 kg) are standing facing each other on a frozen
pond. The son pushes on the father and finds himself moving backward at 4 m/s after
they hin;;/ separated. How fast will the father be moving?
a. 1. s -9 = Ms U 30 =M
15mis || =0 = Ve - meug => VP T TS 20+ (-5 Ysec
3.0 m/s l | J ks s me 5
d 40m/s
e. 10.6m/s
f. None of the above is within 10% of the correct answer.

31. Assume that a red car has a mass of 1000 kg and a white car has a mass of
3000 kg., and both have the same momentum. Then Sy
a. the white car’s kinetic energy is one-third as bigl Ke= .i_ Mv2 = ’;'.' LCZ.’“)Z;
b. their kinetic energies are not equal. ‘T P
c. the red car's kinetic energy is three times as big) ‘ Kedked - '\jggb  MuHir® i r® _ 3
(d)) All of the statements, a, b, & ¢, above are true. - 2 /D
(keowrre Meeo Pwwae

. None of the completions yields a true statement.
& Pean = Poure 7 Than, (11510

32. Under what conditions is the kinetic energy (K.E.) conserved (in the strict
sense) in a collision? 1] fs fme
AAHK erned

a. K. is always conserved.
b. K.E.is only conserved when the collision is totally elastic.
c. K.GE. is conserved when there is no net outside force.
d. K.E. is conserved when there is no friction.
Kinetic energy is never “conserved” in a collision because it does not remain constant.

=¥ None of the above answers is correct.

P
]

33. In physics, the net work is defined as the product of the
a. net force and the distance traveled.
b. net force and the time it is applied.
@ net force parallel to the motion and the distance traveled.
_ net force parallel to the motion and the time it is applied.
e. applied force and the distance traveled.
f. None of the above.
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34. Two objects have different masses but the same momentum. If you stop them with é_z - At (SN fn

the same constant retarding force, which one will stop in the shorter distance, and why? ﬁ' i - boft

a. Both stop in the same distance, because both require the same impulse to stopX = pP

b. The lighter one, because it travels a shorfgxdiStance in the same time ¢ £ m LA Myt =

The heavier one, because it travels a shorter distance in the same time. v, = C}ﬂ_ W > Uy
. Both stop in the same distance, because both require the same net work to stop.X 3 '
e. None of the above statements is correct. X s INSTME TWME LIERTE (74 ASTEL,
TRAELS U

35. Regardng the amount of work is performed by the gravitational force F on a synchronous satellite
during one day, and the reason why:
The work done is zero, because the force is always perpendicular to the velocity._r
b. The work done is F*C, where C is the circumference of the orbit [~
The work done is zero, because the net force on the satellite vanishes. T
The work done is zero, because a synchronous satellite does not move. &
The work done is F*D, where D is the diameter of the orbit. =
The work done is Fr, where r is the radius of the orbit. |~
None of the above statements (a through f) is true..

@he oo

36. Which of the following properties of a ball is conserved as it falls freely in a vacuum?
a. kinetic energy

mechanical energy T

momentum F

gravitational potential energy. F

No conservation law applies because gravity does work on the ball as it falls.

None of the above is a true answer to the question.

o Ao

37. Because the earth rotates once daily under the tidal bulges generated by the moon’s
gravitational attraction, and because the moon orbits the earth in about 28 days,

a. we always have 2 high and 2 low tides in every 24 hour interval. ¥

we sometimes have 2 low tides and 1 high tide in a 24 hour interval. T
c. we sometimes have an extra high tide or low tide, in addition to the

usual 2 high and 2 low tides. F

d. we always have exactly 1 high tide and 1 low tide every 24 hours. F
e. All of the above responses are flawed: none is correct.

38. A man with a mass of 90 kg falls 800 m. How much kinetic energy does he gain?

. 723 . '
I

Z ggJJ o +’Mg«1:= 74.4'145-9@ 2 g+ (kale = 724|103 T = 720,027
e. 720007

@ None of the above statements is within 10% of the correct answer.
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39. An 800-kg frictionless roller coaster starts from rest at a height of 30 m. What is its
kinetic energy when it goes over the top of a hill that is 10 m high?

a. 8,000J (Mé?‘.- (Pg)‘ (’(gz (Qw)(j'())(le) +0 -—(Mt.}f

b. 16,000]
c. 24,0007 by Cons@UVRIIN of PL.E fo conscryative
d. 80,0007 4 2-4x105 = (PE)f +@x2)y = (Za-a)(/v)(to) 4(‘»'7F

240,000J
g. None of the above answers is within 10% of the correct result.

40. A 1.5 kg. pendulum has a kinetic energy of 45 Joule at the lowest point in its swing.

How high does it travel to its stopping point?
a) 0.Im ) « P)r HKs
b) 03m (M) = cond = Pege + & - h +o
c) L. 0+ 4T = ™7

1.0m
3.0m 45 = h=3M
e) None of the above is correct within 10%. el 73

41. If a spring, extended by 5 cm from its natural length, is relaxed to a smaller extension
of 4 cm, its potential energy (P.E.) change by a factor, most nearly, of

0.35
5063 (Pz) = & 4he* =2 PRy ST 4 2= 044
> 0.5 s by 25

d) 2.85
e) None of the above is within 10%.

42. A ball dropped from a height of 8 m bounces back to a height of 7 m before coming
to rest. Which of the following statements is valid for this process?

Kinetic energy is conserved. F

Mechanical energy is conserved. =

Gravitational potential energy is conserved. F

The net work done by gravity was zero. =

All of the above.

None of the above.

@‘P-p.c‘s»

43. How much energy is required to light a 10-watt bulb for 278 h?
;) 1.0x10°J
@ 17 x10°7 (owntl s foT, g=/oL \ 2ELF cosbe _ 1oxro®
c. 2.8x10°J e =
d 280J

e. None of the above answers is within 10% of the correct resuit.
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44. Imagine riding in a glass-walled elevator that goes up the outside of a tall building at a
constant speed of 20 meters per second. If you drop a ball, an observer in the building
will observe that initially the ball

a.

c.
d

c.

falls starting from rest.

rises starting with an upward speed of 20 m/s.
falls starting with a downward speed of 20 m/s.
remains stationary.

None of the above.

45. While you are standing on the sidewalk, you observe your friends pass by in a van traveling
horizontally at a constant velocity. They and you make various physical measurements in
your own frames of reference. Which of the following quantities has the same value in both
reference systems?

a.
b.
C.

€.
f.

horizontal velocity components [~

kinetic energies F

momenta F

work done by vertical forces. T

work done by horizontal forces. =

None of the above quantities is the same in both frames

46. You can throw a ball vertically up in a car moving with a constant velocity and have it

Jand back in your hand because
there is no net horizontal force acting on the ball.

47.

b.
c.
d.

e
f.

the reference system attached to the car is non-inertial.

there is a net force in the forward direction.

the pseudo-force in the backward direction is canceled by the inertial force.
None of the above completions yields a true statement

All of the above completions yield valid statements.

A ball is thrown horizontally at 30 m/s from a flatcar that is moving in a straight line
at 40 m/s. Relative to a person on the ground beside the track, what is the horizontal speed of
the ball when it is thrown directly backward?

a.
b.
c.

d.
()

70 m/s
50 m/s
40 m/s
30 m/s
10 m/s

. None of the above.
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48. A person drops a ball in a train traveling along a straight, horizontal track with a
constant acceleration in the forward direction. What would an observer in the train say
about the force acting on the ball based on the trajectory he observes?

a.
b.
c.
d.

f.

The force has no horizontal component.

The force has no vertical component.

The force has a horizontal component in the forward direction.
There is a centrifugal force.

The force has a horizontal component in the backward direction.
None of the above.

49. You and a friend are rolling marbles on a horizontal table in the back of a moving van

on

a straight, level section of interstate highway. You start the marble rolling directly

toward the side of the truck and observe that it curves toward the front of the van. You
conclude that the truck is

a.
b.
C.

(&)

50. Wh
a.
b
c

d.

not moving

moving at a constant velocity

speeding up

slowing down

None of the above conclusions can be validly drawn from the information given.

ich of the following could reasonably be cited as valid evidence that the earth rotates?
The plane of a pendulum rotates as time passes.

The sun rises and sets each day.
Hurricane winds rotate counterclockwise in the Northern Hemisphere; clockwise in the

Southern.
A high precision measurement of the weight of a standard mass yields a slightly
smaller value at sea level on the equator than at the north pole.

(e.) All of the above.
. None of the above would indicate a rotation of the earth..

51. An elevator passenger’s vertical acceleration, A, in an inertial frame, his mass, M,

an

d the forces acting upon him due to gravity, Fgy, and due to the floor, Fao,r, are

related (by NII) as follows: MA = Fgray + Fioor . If e re-write this equation as:
0= Fva + Fﬂoor = MA,

©

We have added new physical content to the statement.

We have placed the outside world’s forces on the same side of the equation

as their effect, and have thus altered their physical implications.

We can re-interpret the result as the computation of observer, O,, in a frame
accelerating at a rate, A, which calculation uses a pseudo-force, and informs
him that this person has an acceleration equal to 0 in O4’s accelerating frame.

All of the above are true and valid completions.

None of the above is true.
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The following questions many require more computation that those preceding. Please
Select the choice that best answers the question and insert its letter into the corresponding

line of your NCS answer sheet.

52. A cylindrical space station, far from any large masses, can be spun so that people on the inside
surface of the station feel the effects of an "artificial gravity" force directed outward from the
axis of the cylinder. If the cylinder has a radius of 400 km, what must its angular velocity be in
order to provide an artificial gravity just equal to g = 10 m/s/s.

Q 0.5 x 107 radians/sec
5. 0.5 x 10 radians/sec
c. 2.5x 107 radians/sec
d. 2.5x 10° radians/sec
e. None of the above answers is within 10% of the correct result.

76_7[_1_: ﬂﬁwz = %? '2. - 2.5 0—5
R - W—_— (/‘yﬂaxua)/ 25X/

W= 0.3’”0’2

= ,5')(}0’3

53. A 900-kg satellite orbits a distant planet in a circle of radius of 4000 km with a period
of 280 min. From the radius and period, you calculate the satellite's acceleration to be
11 m/s?. What is the gravitational force on the satellite, host nearly?

: igZI\I{J Fe= ma = Geo-1/ Ag? - Phook ~ JotH
’ P
c. 10°N e

(@D 10°N
e. None of the above answers is within 10% of the correct result
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54. A solid lead sphere of radius 10 m (about 66 ft across!) has a mass of about 5.7 x 10°
kg. If two of these spheres are floating in deep space with their centers 15 m apart, compute
the gravitational force of attraction between them, and select the best answer from those

listed below.
(G==667 10" Nemikg’) 2
N 101 = 6 Mt ;((.57»0"‘/(&7)(/0/ _4/_»1%
100N ®:2)" 225" 1
1000 N ) o = a0

d.
e. 10,000N 225
f. None of the above answers is within 10% of the correct result. Fg o /O Y4 @

55. A 60 kg fighter pilot’s ejection seat accelerates him upward at a rate of 4 times g,
the near earth acceleration due to gravity (“4 g’s™). If his seat had a built in weight
scale, what would it read during his ejection?

a. 600N Uﬂ
b. 2400N M:—_— mae = 64-4.?: ,2{-@0,{/ @f—' ER
3000N _ _.
do? 3600 N FA/E‘I‘: ma = Feer ~ F = m 4‘7 -
e. None of the above is within 10% of the correct answer..  fgegr = 4,,,?45 = =1t
= g7 1rg
= 5'7415: & 80/9 (C)

= BTN
(o RRT A3 IS < wot )
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56. A 1600-kg car traveling north at 15 m/s is struck by a 2000-kg truck traveling east at 9 m/s.
If the truck and car crunch and move off locked together as a single unit, what is their speed

immediately after the collision, most nearly" ”
80m/s ) ?m (7= P (G asce, 15 teer) = (M7, %)
5. 10.0 m/s vésoky /s%5 J—___—_" g
y oo 5, - Y - i B
e. 16.0m/s 20045 = F7= (imy2F
f.  None of the above answers is within 6% of the correct result. ”Wﬂ'] / s ese)
‘TMES U-F = (1éce
- il = 83 mrec@)
-z

57. A 20 kg block of wood loses 100 J of mechanical energy to friction as it slides down a
ramp after starting at rest. If it started at a height of 15 m, we can conclude that its kinetic
energy at the bottom of the ramp (where the height is zero) is, most nearly,

a. 157 = —)o0
b. 20J (Ake).(kE) WeT = -APe)y - Wet g4
c ggg; 24 1500 =10 = 29007 &

29007
f. 3000J
g. None of the above answers is within 10% of the correct result.

L
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58. A block which weighs 16 N is moving upward with an initial kinetic energy of 34 J and is
being accelerated by an applied upward force of 32N. If the block is lifted 6 m , what is the block's
final kinetic energy, most nearly?

a. 2261 pwET. anr -F; = 32-k= [2N

b. 192] _ ) |
c. 158J wNﬁ - Aa‘/g}: 0{5( "(k’ejr' = FWET, Ag =N &= f/f
égOJJ (k&)e= 7634 leak = F<+34+= 130 7))

f None of the above answers is within 10% of the correct result

59. A room is being accelerated through space at 15 m/s’ relative to the "fixed stars." It is far away
from any massive objects. If a man weighs 1000 N when he is at rest on earth, how much will he
weigh in the room, most nearly ?

b Soon [WHernh]= I rad5i)= 155

c. 670N
d. 1000N
e.) 1500N

. None of the above answers is within 10% of the correct result.
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60. Assuming that the earth is a perfect sphere and that the force of gravity is constant over the surface,
your weight (as determined by a bathroom scale) at the equator would be less that at the North Pole.
by a small fraction due to the centrifugal force arising from the rotation of the earth about its axis.

That fraction of your weight is equal to (Use Rg= 6.4 x 10°m)
a. 3.4x102
34x10°
3.4x10*

3.4x10°

3.4x10°

None of the above is within 10 % of the correct answer.

"o Ao

vl beifeene
thw - "’_'7__2’2: o g_wz au/umfﬁm M)’/

= 20 _ 2Ny dd x M= 13X/
w= = Jeoc
d ¥ Zioo s
| ay A 247 1 34 9" (b)

-z y
Rew”. /(4->:/o//73x/0 5 3+1X0

Frachent cArpe= Fé‘;' = 7 /6

End of exam............Phys 117-ExII-S08..........End of exam



